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QUESTION 1

You have a data warehouse that contains a table named Stage. Customers. Stage-Customers contains all the customer
record updates from a customer relationship management (CRM) system. There can be multiple updates per customer

You need to write a T-SQL query that will return the customer ID, name, postal code, and the last updated time of the
most recent row for each customer ID.

How should you complete the code? To answer, select the appropriate options in the answer area,
NOTE Each correct selection is worth one point.

Hot Area:

WITH CUSTOMERBASE AS (
SELECT [CustomerlD]
»[Customeriame] @
s [PostalCode]

s [LastUpdated]

X o= ROW_NUMBER() _'] OVER (PARTITION BY CustomerlD ORDER BY LastUpdated DESC)
LAST Value ()
NTILEQ

ROW_NUMBER()

SELECT CustomerlID, CustomerName, PostalCode, LastUpdated

FROM CUSTOMERBASE

WHERE X = 1 v]
Having Max(LastUpdated) = 1
WHERE LastUpdated = Max(LastUpdated)

Correct Answer:
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WITH CUSTOMERBASE AS (
SELECT [CustomerlD]

» [Customeriame] @

s [PostalCode]

s [LastUpdated]

X = ROW _NUMBER() "] OVER (PARTITION BY CustomerID ORDER BY LastUpdated DESC)
LAST Value ()
|NTILEQ

ROW_NUMBER()

SELECT CustomerID, CustomerName, PostalCode, LastUpdated

FROM CUSTOMERBASE

[WHERE X = | -]
Having Max(LastUpdated) = 1

WHERE LastUpdated = Max({LastUpdated)

In the ROW_NUMBER() function, choose OVER (PARTITION BY CustomerID
ORDER BY LastUpdated DESC).
In the WHERE clause, choose WHERE X = 1.

To select the most recent row for each customer ID, you use the ROW_NUMBER() window function partitioned by
CustomerlID and ordered by LastUpdated in descending order.

This will assign a row number of 1 to the most recent update for each customer. By selecting rows where the row
number (X) is 1, you get the latest update per customer.

References =
Use the OVER clause to aggregate data per partition

Use window functions

QUESTION 2

You have a Fabric tenant that contains a warehouse named Warehousel. Warehousel contains three schemas named
schemaA, schemaB. and schemacC.

You need to ensure that a user named Userl can truncate tables in schemaA only.
How should you complete the T-SQL statement? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.
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Hot Area:
GRANT ALTER v | oN SCHEMA :: schemaA ¥  TD Userl;
| DATABASE = schemaA
CONNECT | OBJECT :: schemaA
EJ':E_C UTE SCHEMA : schemaA

Correct Answer:

GRANT ALTER oM SCHEMA :: schemaA ¥  TD Userl;

| DATABASE = schemaA
|OBJECT :: schemaA

CONNECT
EXECUTE

GRANT ALTER ON SCHEMA::schemaA TO Userl;

The ALTER permission allows a user to modify the schema of an object, and granting ALTER on a schema will allow
the user to perform operations like TRUNCATE TABLE on any object within that schema. It is the correct permission to

grant to Userl for truncating tables in schemaA.
References =
GRANT Schema Permissions

Permissions That Can Be Granted on a Schema

QUESTION 3
You have a Fabric tenant that contains a lakehouse.

You are using a Fabric notebook to save a large DataFrame by using the following code.

df .write.partitionBy("year”, "month","day").mode( " overwrite").parquet(“Files/5alesOrder")

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct
selection is worth one point.

Hot Area:
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Statements Yes No

The results will form a hierarchy of folders for each partition key.
The resulting file partitions can be read in parallel across multiple nodes

The resulting file partitions will use file compression

Correct Answer:

Statements Yes No

The results will form a hierarchy of folders for each partition key. %
The resulting file partitions can be read in parallel across multiple nodes

The resulting file partitions will use file compression

The results will form a hierarchy of folders for each partition key. - Yes The resulting file partitions can be read in parallel
across multiple nodes. - Yes The resulting file partitions will use file compression. - No

Partitioning data by columns such as year, month, and day, as shown in the DataFrame write operation, organizes the
output into a directory hierarchy that reflects the partitioning structure. This organization can improve the performance of
read operations, as queries that filter by the partitioned columns can scan only the relevant directories. Moreover,
partitioning facilitates parallelism because each partition can be processed independently across different nodes in a
distributed system like Spark. However, the code snippet provided does not explicitly specify that file compression

should be used, so we cannot assume that the output will be compressed without additional context. References =
DataFrame write partitionBy Apache Spark optimization with partitioning

QUESTION 4

You have a Fabric tenant that contains a Microsoft Power Bl report named Report 1. Reportl includes a Python visual.
Data displayed by the visual is grouped automatically and duplicate rows are NOT displayed. You need all rows to
appear in the visual. What should you do?

A. Reference the columns in the Python code by index.

B. Modify the Sort Column By property for all columns.

C. Add a unique field to each row.

D. Modify the Summarize By property for all columns.

Correct Answer: C

Explanation: To ensure all rows appear in the Python visual within a Power Bl report, option C, adding a unique field to
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each row, is the correct solution. This will prevent automatic grouping by unique values and allow for all instances of
data to be represented in the visual. References = For more on Power Bl Python visuals and how they handle data,
please refer to the Power Bl documentation.

QUESTION 5

You have a Fabric workspace named Workspacel that contains a data flow named Dataflowl. Dataflowl contains a
query that returns the data shown in the following exhibit.

X Table.TransformCo]l umnTypes(s"Promoted headers”™, {("vendorID®, Intéd.Type)}, [“#015-01-81", Intdd . Type)}, {("201%-81-03°, %
- f J i B g o Query settings >
B 125 vendonn = 1232050101 |+ 123 20150002 |~ 123 20150103 ~ 193 2015-00-04 |+ 173 2005-00-05 | ~ 123 2015-01-06 | v 193 2015-01-07 ~ | 193 2015-01-08 :
v Properties
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You need to transform the date columns into attribute-value pairs, where columns become rows.

You select the VendorID column.

Which transformation should you select from the context menu of the VendorID column?

A. Group by

B. Unpivot columns

C. Unpivot other columns

D. Split column

E. Remove other columns

Correct Answer: B

Explanation: The transformation you should select from the context menu of the VendorID column to transform the date
columns into attribute-value pairs, where columns become rows, is Unpivot columns (B). This transformation will turn
the selected columns into rows with two new columns, one for the attribute (the original column names) and one for the

value (the data from the cells). References = Techniques for unpivoting columns are covered in the Power Query
documentation, which explains how to use the transformation in data modeling.
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